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4. ke Ze/c%/fwy /ﬁ/ﬁm«//@é/ / D
ﬂ-) Detretperol = Zau + X = A2 ;5 fre A
S tu=60—4%
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4 = //go 4 Z %M 60X
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£ o A(2)A1); B(5)A/0),

PEAT)-2), @ (A)5/2).

PaePL = 2(£47)+0(2¢4)+ 4(~£+3) = O
= 2446 ~4L+A2 =0 = £=7
o = 0P + P2

of = (3)+(&%) = (1) = 2 (47/5)

-9+3

6. X

y=ax’+bx?+c Punkte einsetzten —
c=1
a+b+c=-0.75
8la+9%+c=3.25

- y=0.25x" —2x* +1

Min. bestimmen (-2/ -3), (2/ -3)
- W =’[—3 ; oo[

Koordinatentransformation

4 2
- y=O.25(x—6) —2(x~6) +1+6
y =0.25x* —6x° +52x% —192x + 259

S grafisch bestimmen S =(3.198/6.703)




